ERSAROREERT —I X—RIBIST—F 202455828 () 3@&5E2H
S C 134 YSFR— (s | EEm - | 9 o0 B
[AE%) 1 &:500,00H ~ 2%&:175,000H  337%:100,000H  43#%&:75,000H 53 :50,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 3| TR/ NAA LY b 5 %ﬁ{%ﬁ@ 1:(3_7).6 1-1-1-1 (400 — | 1 (4:327) P%r‘lfﬂ (BER)

R T709— B:IUYFLRX HHE B=E
— 8 4 | ALE— 1:37.7 5-5-7-5 |39.3| — 3 454 | ROFE (BEE)
2 pY 2| RO* 54.0 (i) (y |HBES
RRLVTFY BIEIRAR— F—IYU—T7—L
it 4 | REER 1:37.8 7-7-4-3 | 39.7| — 2 49 | SR (BEE)
3 4| BALT7DOTA g 56.0 /2 5 | B WBRF—T
R:F4=FTUVSVF B:yavrrHyR R OF
— 4 | ETE 1:38.2 2-2-2-2 | 40.5| - 4 31 | BEOE (BEE)
4179 | ILFAIZT7—R i 352.0 Q) 1) | (B J PN
RS /IUITYR B:UFIZT7—R [=lEe]
s 5 | BHIA 1:38.6 4-4-3-4 | 40.7| - 8 | 458 |BHF (BEHR)
5|7{10] 33EX 54.0 @ o) | @)
R:7ZROVIvT B:YRR RE B
° =hE—BA : -11-10- - MEEX (BEHR)
618l12 TrRILARILEDZ 44 §55_0 1.(3%.8 11-11-10-9 | 38.6 6 z:g;) e
R:ZAIJU—=rbe—0O— B4R AVT)L EvIUy RI7—L4
SV~ b4 | AZRIE 1:39.0 8-8-8-8 |40.2| - 5 1462 |BER (BEE)
715|5|FARNLYYT i O52.0 a2 1 | sE=
RIUPIWAT 4= 8:9F /RS- Izl
. NOEEFIAE : -6-6- - WEEX (BEEB)
8l5l6| FUT—K 5 10 i 1.(319).2 6-6-6-6 | 41.0 12 s(g? Baz
RiZvF—74) B:Y—AF—)VINVTovIa /=Y Tr—1L
P = B4 | RFRIAER 1:40.0 12-12-12-11/ 39.7 | — 7 | 45 |EEOE (ZER)
s 7 | ERX*+5— 5.0 @ | (B J PN
RISV TURR BEIFYXTUR K FH RE
5 S s 5 | KMmHE 1:40.2 10-10-11-12/ 39.9 | — | 10 | 502 ||WEBEX (BEE)
10111 |I7YINLTv> 540 A1) 3 | EEEA
RIZAY—RT 7Y BVILN—IA YR J0-U—T7—L
=5 4 5 | HIERE— 1:40.3 9-9-9-10 |41.0| — " 458 | TTRAK (BEE)
1118111 /\J_‘L T—7— 54.0 (71) o |mBEE
RVIWN=ZAT—bk BiIVRUVARU—L2 BRI 7—L
NiEEES— : -3-5- - iJiEI%%% (BER)
1 8 /\Jlj"j' 5 4t 4 o 1(.;2‘.)4 3-3-5-7 |42.2 9 (4_716) s
R:T=ILRYy T B:RX/x4A40 FA4TPURANIST

@ 11— —®BIEfI
10—+— 3,9,8,10,2,6,4,5,11,1,12,7
20—7F— 3,9,8,10,2,6,4,5,11,1,12,7
30—7— 3,9,10,4,8,6,2,5,11,12,1,7
43—F— 3,9,4,10,2,6,8,5,12,11,7,1

o ILRE
B B 3 270H JA R 2-3 410M % 5E 2-3 1,180 3EE 2-3-4 900M4
7B B 3 160/ 3-4 2804 Fs E 2-3 900H 3EH 3-2-4 4,870M

2 160 2-4 330 Ba 3-2 1,920
4 140
ABCDOVTIRHTERERRODDZ, THERAILZETL




